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BIHAR BOARD QUESTION PAPER  

हहन्दी माध्यम / ENGLISH MEDIUM  

INTERMEDIATE EXAMINATION - 2013 
इंटरमीडिएट ऩरीऺा - 2013 

(ANNUAL / वार्षिक)  

BUSINESS ECONOMICS  
सभम : 3 घॊटे 15 मभनट]              [ऩरू्णांक : 100 

GROUP : A 

I. प्रश्न सॊख्मण 1 से 25 तक भें चणय विकल्ऩ दिए गए हैं जजनभें से एक सही है | सही 
विकल्ऩों को चनुें एिॊ उत्तय-ऩत्र भें चचजननत कयें  

 

1. उत्ऩणिन के सणधन क्मण है ?  

(a) बमूभ  

(b) श्रभ  

(c) ऩूॉजी 

(d) इनभें से सबी 

 

2. अर्थशणस्त्त्र विऻणन के आविष्कणयक कौन है  

(a) कौदटल्म 

(b) कणरणथइर  

(c) विमरमभ भोयीस  

(d) चणल्सथ डिकेन्स  
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3. ककसने कहण अर्थशणस्त्त्र िरुथबतण कण विऻणन है ? 

(a) यॉबफन्स 

(b) आिभ जस्त्भर्  

(c) भणशथर 

(d) जे० एस० मभर 

 

4. ककसने कहण 'अर्थशणस्त्त्र सणभग्री कल्मणर् कण शणस्त्त्र है' ?  

(a) यॉबफन्स 

(b) भणशथर  

(c) जे० फी० से  

(d) सीननमय 

 

5. ननम्न भें ककस आधणय स्त्तम्ब ऩय आचर्थक सभस्त्मणओॊ कण ढणॉचण खडण है ? 

(a) असीमभत आिश्मकतणएॉ 

(b) सीमभत सणधन  

(c) (a) औय (b) िोनों 

(d) इनभें से कोई नहीॊ 

 

6. चगकपन िस्त्तुओॊ के मरए कीभत भणॉग की रोच होती है  

(a) ऋर्णत्भक 

(b) धनणत्भक  

(c) शनू्म  

(d) इनभें से कोई नहीॊ 
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7. उत्ऩवत्त ह्रणस ननमभ रणगू होने कण भखु्म कणयर् कौन-सण है ? 

(a) सणधनों की सीमभततण  

(b) सणधनों कण अऩरू्थ स्त्र्णनणऩन्न होनण  

(c) (a) औय (b) िोनों 

(d) इनभें से कोई नहीॊ 
 

8. जफ कीभत भें र्ोडी िदृ्चध होने ऩय ऩनूतथ भें ज्मणिण िदृ्चध हो जणए तो ऩनूतथ कण स्त्िरूऩ 
ननम्न भें कौन-सण होतण है ? 

(a) रोचिणय 

(b) फेरोचिणय  

(c) ऩरू्थ रोचिणय  

(d) ऩरू्थ फेरोचिणय  
 

9. भणॉग की रोच को भणऩने कण सतू्र ननम्न भें से कौन-सण है ?  

(a) भणॉग भें आनुऩणनतक ऩरयितथनकीभत
 भें अनुऩणनतक ऩरयितथन  

  

(b) कीभत भें अनुऩणनतक ऩरयितथन  

भणॉग भें आनुऩणनतक ऩरयितथन  
 

(c) भणॉग भें ऩरयितथन 

कीभत भें ऩरयितथन  
 

(d) इनभें से कोई नहीॊ 
 

10. आचर्थक सभस्त्मणएॉ भरूत् ककस तथ्म की सभस्त्मण हैं ? 

(a) चनुणि की 

(b) उऩबोक्तण चमन की 

(c) पभथ चमन की 

(d) इनभें से कोई नहीॊ 
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11. ऩभैणने के िदृ्चधभणन प्रनतपर रणगू होने के प्रभखु कणयर् कौन-से हैं ? 

(a) आकणय की कुशरतण 

(b) विमशष्टीकयर्  

(c) अविबणज्मतण 

(d) इनभें से सबी 

 

12. ऩनूतथ की रोच ∆Q की भणऩ ननम्न भें से ककस सतू्र से ऻणत की जणती है ? 

(a) ∆𝑄𝑠 /𝑄𝑠

∆𝑃 /𝑃  
 

(b) 𝑄𝑠
∆𝑃

 ×
1

𝑃
 

(c) 𝑄𝑠
∆𝑃

 × ∆𝑃 

(d) ∆𝑃
𝑄𝑠

 ×
𝑃

∆𝑄
 

 

13. NNPMP = ? 

(a) GNPMP - नघसणिट  

(b) GNPMP + नघसणिट  

(c) GNPMP + अप्रत्मऺ कय  

(d) इनभें से कोई नहीॊ 

 

14. 'जेनेयर थ्मोयी ऑप एम््रॉमभेंट, इॊटयेस्त्ट एण्ि भनी' ऩसु्त्तक के रेखक कौन है, 

(a) ऩीग ू

(b) भणल्र्स 

(c) जे. एभ. कीन्स  

(d) भणशथर 
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15. APC + APS  

(a) 0 

(b) 1 

(c) अनन्त 

(d) इनभें से कोई नहीॊ  

 

16. कीन्स कण गुर्क मसद्धणन्त ननम्न भें से ककसके फीच सॊफॊध स्त्र्णवऩत कयतण है ? 

(a) ननिेश तर्ण आम 

(b) आम तर्ण उऩबोग 

(c) फचत तर्ण ननिेश 

(d) इनभें से कोई नहीॊ 

 

17. चणय ऺेत्रीम अर्थव्मिस्त्र्ण के चक्रीम प्रिणह भें सॊतुरन के मरए शतथ ननम्न भें से कौन-
सण है? 

(a) C + I  

(b) C + I + G 

(c) C + I + G + (X-M)  

(d) इनभें से कोई नहीॊ 

 

18. एक रेखण िर्थ भें ककसी िेश की घयेर ूसीभण भें सबी उत्ऩणिकों द्िणयण जजतनी बी 
अॊनतभ िस्त्तुओॊ औय सेिणओॊ कण उत्ऩणिन होतण है (जजसभें भलू्म ह्रणस बी शणमभर होतण है) 
उनकी फणजणय कीभत के मोग को कहण जणतण है 

(a) GDPMP  

(b) GDPPC   
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(c) NNPPC  

(d) इनभें से कोई नहीॊ 

 

19. ननम्नमरखखत भें से िणस्त्तविक ननिेश है 

(a) शमेय खयीिनण  
(b) ऩयुणनी पैक्री खयीिनण 

(c) बिनों कण ननभणथर् 

(d) फैंक भें जभण खणतण खोरनण  

 

20. कीन्स के ननिेश गुर्क कण भणन ननबथय कयतण है। 

(a) आम स्त्तय ऩय  

(b) ऩूॉजी की सीभणॊत उत्ऩणिकतण ऩय 

(c) उऩबोक्तण की सीभणॊत प्रिवृत्त ऩय  

(d) ननिेश स्त्तय ऩय 

 

21. भणॉग के ननमभ कण आधणय है। 

(a) उऩमोचगतण ह्रणस ननमभ 

(b) िधथभणन प्रनतपर ननमभ 

(c) ह्रणसभणन प्रनतपर ननमभ 

(d) इनभें से कोई नहीॊ 

 

22. भलू्म भें ऩरयितथन के परस्त्िरूऩ भणॉग भें जजस गनत से ऩरयितथन होगण उसे कहण 
जणतण है।  

(a) भणॉग कण ननमभ 

(b) भणॉग की रोच 
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(c) रोच की भणऩ 

(d) इनभें से सबी 

 

23. उत्ऩणिन के सणधन हैं। 

(a) ऩणॉच 

(b) छ् 

(c) सणत 

(d) इनभें से कोई नहीॊ 

 

24. बणयत कण केन्रीम फैंक कौन-सण है ? 

(a) स्त्टेट फैंक ऑप इजण्िमण  

(b) फैंक ऑप फडौिण 

(c) रयजिथ फैंक ऑप इजण्िमण  

(d) फैंक ऑप इजण्िमण 

 

25. ककसने कहण है "भलू्म कण ननधणथयर् भणॉग एिॊ ऩनूतथ िोनों के द्िणयण होतण है" ? 

(a) जेिेन्स 

(b) िणरयस 

(c) भणशथर 

(d) इनभें से कोई नहीॊ 

 

II. ननम्नमरखखत प्रश्न सॊख्मण 26 से 30 तक के प्रत्मेक प्रश्न भें िो कर्न ( कर्न । 
एिॊ कर्न II ) दिए गमे हैं। इन कर्नों के आधणय ऩय प्रत्मेक प्रश्न के मरए दिमे। गए 
विकल्ऩों (a), (b), (c) औय (d) भें से सही विकल्ऩ को चनुें: 
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(a) िोनों कर्न सही हैं तर्ण कर्न II कर्न I की सही व्मणख्मण है। 

(b) िोनों कर्न सही हैं तर्ण कर्न II कर्न I की सही व्मणख्मण नहीॊ है। 

(c) कर्न I सही है ऩयन्तु कर्न II गरत है  

(d) कर्न I गरत है, ऩयन्तु कर्न II सही है 

 

26. कर्न-I : भनषु्म की आिश्मकतणएॉ अनन्त होती हैं।  

कर्न-II : आिश्मकतणओॊ की तुरनण भें सणधन सीमभत होते हैं।  

 

27. कर्न-I : िीघथकणर भें उत्ऩणिन कण कोई सणधन जस्त्र्य नहीॊ यहतण है। 

कर्न-II : िीघथकणर भें उत्ऩणिन के सबी सणधन ऩरयितथनशीर होते हैं। 

 

28. कर्न-I : बणयत भें भौसभी फेयोजगणयी ग्रणभीर् ऺेत्रों भें ऩणमी जणती है।  

कर्न-II : बणयत भें मसपथ  शहयों भें हो फेयोजगणयी ऩणमी जणती है।  

 

29. कर्न-I : भणॉग कण ननमभ मह फतणतण है कक अन्म ऩरयजस्त्र्नतमों के सभणन यहने ऩय 
िस्त्तुओॊ की कीभत एिॊ िस्त्तुओॊ की भणॊग भें विऩयीत सम्फन्ध होतण है। 

कर्न-II : ऩनूतथ कण ननमभ मह फतणतण है कक िस्त्तु की कीभत तर्ण िस्त्त ुकी ऩनूतथ भें 
प्रत्मऺ तर्ण सीधण सम्फन्ध ऩणमण जणतण है। 

 

30. कर्न-I : विऩर्न के अॊतगथत क्रम-विक्रम कक्रमणएॉ सजम्भमरत हैं।  

कर्न-II : विऩर्न उच्च जीिन स्त्तय कण प्रतीक है।  

 

III. प्रश्न सॊख्मण 31 से 34 भें िो कॉरभ (कॉरभ I एिॊ कॉरभ II) दिए गए हैं। िोनों 
कॉरभों के मभरणन कय सही विकल्ऩ चनुनए :  
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कॉरभ-I       कॉरभ-II   

31. प्रर्भ ऩॊचिर्ीम मोजनण  (a) 1969-1974 

32. द्वितीम ऩॊचिर्ीम मोजनण   (b) 1951-1956 

33. ततृीम ऩॊचिर्ीम मोजनण  (c) 1956-1961 

34. चतुर्थ ऩॊचिर्ीम मोजनण  (d) 1961-1966 

 

IV. नीच ेदिए गए अनचु्छेि को ध्मणन से ऩढें तर्ण सभझें औय उसी के आधणय ऩय दिए 
गए प्रश्न सॊख्मण 35 के प्रश्नों के उत्तय विकल्ऩ से चनुकय िें  

 

35. अनचु्छेि: ऩरू्थ प्रनतमोचगतण भें कीभत ननधणथयर् िस्त्तु की भणॉग तर्ण िस्त्तु की ऩनूतथ 
िशणओॊ के आधणय ऩय होतण है। ऩनूतथ िक्र की रोच सभमणिचध ऩय ननबथय कयती है। जैसे-
जैसे सभमणिचध फढती जणती है िसेै-िसेै ऩनूतथ िक्र अचधक रोचिणय होतण जणतण है।  

 

I. ऩनूतथ प्रनतमोचगतण भें कीभत ननधणथयर् होतण है 

(a) भणॉग के आधणय ऩय  

(b) भणॉग एिॊ ऩनूतथ के आधणय ऩय  

(c) ऩनूतथ के आधणय ऩय 

(d) इनभें से कोई नहीॊ 

 

II. ऩनूतथ िक्र की रोच ननबथय कयती है 

(a) भणॉग ऩय  

(b) उत्ऩणिन ऩय  

(c) सभमणिचध ऩय 

(d) ऩनूतथ ऩय 
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III. ऩनूतथ िक्र अचधक रोचिणय होतण जणतण है, सभमणिचध के 

(a) फढने के सणर् 

(b) घटने के सणर् 

(c) भणॉग के सणर् 

(d) उत्ऩणिन के सणर् 

SECTION - B 

प्रश्न संख्या 1 से 10 तक ऱघ ुउत्तरीय हैं तथा प्रत्येक के लऱए 3 अंक ननधािररत है। 
1. आचर्थक कक्रमण के ‘व्मजष्ट' एिॊ 'सभजष्ट' स्त्तयों को सभझणइए। 

2. यणजस्त्ि घणटण क्मण होतण है ? इसके क्मण प्रबणि होते हैं ? 

3. उत्ऩणिन कणमथ ककसे कहते हैं ? 

4. एकणचधकणय की विशरे्तणएॉ फतणइए।  

5. भरुण के कणमथ को स्त्ऩष्ट कयें। 

6. सकर यणष्रीम उत्ऩणि क्मण है ?  

7. िस्त्तु विननभम प्रर्णरी की ककन्हीॊ चणय कदिनणइमों को फतणइए 

8. ऩनूतथ कण ननमभ क्मण है ? इसे उिणहयर् के सणर् स्त्ऩष्ट कयें। 

9. सयकणयी फजट की भखु्म विशरे्तणएॉ फतणइए।  

10. प्रणर्मभक ऺेत्र तर्ण द्वितीमक ऺेत्र भें अॊतय फतणइए। 

प्रश्न संख्या 11 से 15 तक दीघि उत्तरीय हैं तथा प्रत्येक के लऱए 6 अंक ननधािररत  
11. एक व्मणऩणरयक फैंक की ऩरयबणर्ण िीजजए तर्ण इसके कणमों की फतणइए। 

12. विननभम िय के प्रकणय को स्त्ऩष्ट कीजजए। जस्त्र्य एिॊ रोचशीर विननभम िय कैसे 
मबन्न है। https://www.bsebstudy.com 

13. केन्रीम फैंक ककन यीनतमों से सणख ननमॊत्रर् कयतण है ? 

14. सयकणयी फजट क्मण है ? इसकी विशरे्तणओॊ कण िर्थन कीजजए। 
15. भरुण के विमबन्न कणमों कण उल्रेख कयें। 
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BIHAR BOARD QUESTION PAPER  

INTERMEDIATE EXAMINATION - 2013 
इंटरमीडिएट ऩरीऺा - 2013 

(ANNUAL / वार्षिक)  

BUSINESS ECONOMICS  
Time: 3 Hours 15 Minutes]             [Full Marks: 100 

SECTION-A 

1. For question nos. 1 to 25, there are four alternatives of which only one is correct. 

Choose the correct alternative and mark it in the answer sheet: 

 

1. The factor (s) of the production is/are  

(a) Land 

(b) Labour 

(c) Capital 

(d) All of these 

 

2. Who invented the economic science? 

(a) Kautilya 

(b) Carlyle  

(c) William Morris 

(d) Charles Dickens 

 

3. Who said "Economics is the science of scarcity"?  

(a) Robbins 

(b) Adam Smith  

(c) Marshall 

(d) J. S. Mill 



https://www.bsebstudy.com 

4. Who said "Economics is the science of material welfare"?  

(a) Robbins  

(b) Marshall 

(c) J. B. Say  

(d) Senior 

 

5. On which basic has structure of economic problem been installed?  

(a) Unlimited wants 

(b) Limited resources  

(c) Both (a) and (b) 

(d) None of these 

 

6. For Giffen goods price elasticity of demand is 

(a) Negative 

(b) Positive  

(c) Zero  

(d) None of these 

 

7. The main reason of operating the law of diminishing return is 

(a) Scarcity of factors.  

(b) Imperfect substitution between factors 

(c) Both (a) and (b) 

(d) None of these 

 

8. When supply increases more with a result of small increase in price, the nature of 

supply will be 

(a) elastic 

(b) inelastic 

(c) perfectly elastic  

(d) perfect inelastic 
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9. Which of the following is the formula for measuring the elasticity of demand? 

(a) Proportionate change in demand/Proportionate change in price 

(b) Proportionate change in price/proportionate change in demand  

(c) Change in demand/ Change in price 

(d) None of these  

 

10. To which factor are economic problems basically related? 

(a) Choice 

(b) Consumer's selection 

(c) Firm selection 

(d) None of these 

 

11. The main reason of operating the law of increasing return is 

(a) size efficiency  

(b) specialisation 

(c) indivisibility  

(d) All of these 

 

12. Which of the following is the formula for measuring the elasticity of supply AQ? 

(a) 
∆𝑄𝑠/ 𝑄𝑠

∆𝑃/𝑃
 

(b) 
𝑄𝑠

∆𝑃
 × 

1

𝑃
 

(c) 
𝑄𝑠

∆𝑃
× ∆𝑃 

(d) 
∆𝑃

 𝑄𝑠
× 

𝑃∆

∆𝑄
 

 

13. NNPMP =? 

(a) GNPMP - Depreciation 

(b) GNPMP + Depreciation 

(c) GNPMP + Indirect tax 

(d) None of these 
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14. Who is the writer of the book "General theory of employment, Interest and Money"?  

(a) Pigou 

(b) Malthus 

(c) J. M. Keynes 

(d) Marshall 

 

15. APC + APS = 

(a) 0  

(b) 1 

(c) infinity 

(d) None of these 

 

16. Keynesian multiplier principle establishes relationship between 

(a) Investment and Income 

(b) Income and Consumption 

(c) Savings and Investment 

(d) None of these 

 

17. Which of the following is the equilibrium condition for circular flow in four sector 

flow? 

(a) C + I 

(b) C + I + G 

(c) C + I + G + (X - M) 

(d) None of these  

18. The sum of market prices of all goods and services produced by the producers in the 

domestic territory of a country in an accounting year is known as  

(a) GDPMN 

(b) GDPPC 

(c) NNPPC 

(d) None of these 
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19. Which of the following is a real investment? 

(a) Purchasing of a share 

(b) Purchasing of an old factory 

(c) Construction of buildings 

(d) Opening deposit account in the bank 

 

20. The value of Keynesian investment multiplier depends on 

(a) Income level 

(b) Marginal productivity of capital 

(c) Marginal propensity of consumer 

(d) Investment level 

 

21. The basis of law of demand is 

(a) Law of diminishing utility 

(b) Law of increasing return  

(c) Law of decreasing return 

(d) None of these 

 

22. The rate at which demand changes as a result of change in price is called 

(a) Law of demand 

(b) Elasticity of demand 

(c) Measurement of elasticity 

(d) All of these 

 

23. Factors of production are 

(a) five 

(b) six 

(c) seven 

(d) None of these 
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24. What is the central bank of India? 

(a) State Bank of India  

(b) Bank of Baroda 

(c) Reserve Bank of India 

(d) Bank of India 

 

25. Who said "Price is determined by both demand and supply forces"? 

(a) Jevons 

(b) Walrus  

(c) Marshall 

(d) None of these 

 

II. In questions nos. 26 to 30, there are two statements (statements I and statement 

II) against each question. Choose the correct option for each question for each 

question out of options (a), (b), (c) and (d) on the basis of given statements:  

26. Consider the following statements: 

Statement-I: Human wants are unlimited. 

Statement-II: Factors are limited in comparison to wants. 

(a) Both the statements are true and statement II is the correct explanation of statement I. 

(b) Both the statements are true, but statement II is not the correct explanation of 

statement I. 

(c) Statement I is true, but statement II is false. 

(d) Statement I is false, but statement II is true. 

 

27. Consider the following statements: 

Statement-I: No factor of production is constant in the long run.  

Statement-II: All factors of production are changeable in the long run.  

(a) Both the statements are true and statement II is the correct explanation of statement I.  
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(b) Both the statements are true, but statement II is not the correct explanation of 

statement I. 

(c) Statement I is true, but statement II is false.  

(d) Statement I is false, but statement II is true. 

 

28. Consider the following statements: 

Statement - I: In India seasonal unemployment is seen in rural areas. 

Statement - II: In India unemployment is found only in cities. 

(a) Both the statements are true and statement II is the correct explanation of statement 1.  

(b) Both the statements are true, but statement II is not the correct explanation of 

statement I. 

(c) Statement 1 is true, but statement II is false. 

(d) Statement I is false, but statement II is true. 

 

29. Consider the following statements:  

Statement-I: The law of demand states that if all conditions are constant then there is an 

opposite relation between the price of commodities and the demand of the commodities. 

Statement-II: The law of supply states that there exists a direct and straight relation 

between the price of commodity and supply of commodity.  

(a) Both the statements are true and statement II is the correct explanation of statement I. 

(b) Both the statements are true, but statement II is not the correct explanation of 

statement I. 

(c) Statement I is true, but statement II is false.  

(d) Statement I is false, but statement II is true. 

 

30. Consider the following statements 

Statement-I: Both sale and purchase functions are included in marketing  

Statement-II: Marketing is the symbol of high life style. 
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(a) Both the statements are true and statement II is the correct explanation of statement I. 

(b) Both the statements are true, but statement II is not the correct explanation of 

statement I. 

(c) Statement I is true, but statement II is false. 

(d) Statement I is false, but statement II is true. 

 

III. In question nos. 31 to 34, there are two columns (column I and column II). 

Match the correct option between the two columns :  

Column-I      Column-II 

31. First Five Year Plan    (a) 1969-1974 

32. Second Five Year Plan   (b) 1951-1956 

33. Third Five Year Plan   (c) 1956-1961 

34. Fourth Five Year Plan   (d) 1961-1966 

 

IV. In question no. 35, there is a paragraph. You have to read and understand the 

paragraph and then mark your answer from the given options: 

 

35. Paragraph: In perfect competition the price fixation of a commodity is done on the 

basis of its demand and availability of supplies. With increasing time period, the supply 

curve goes on becoming more and more elastic. 

 

I. In perfect competition price fixation is done  

(a) On the basis of demand 

(b) On the basis of demand & supply 

(c) On the basis of supply 

(d) None of these 

 

II. Elasticity of supply curve depends upon 

(a) demand 

(b) production 

(c) time period 

(d) supply  
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III. Elasticity of supply curve increases with 

(a) increase of time period  

(b) decrease of time period 

(d) production 

(c) demand 

SECTION-B 

Question Nos. 1 to 10 are short answer type and each carries 3 marks.  

1. Explain the 'micro' and 'macro' levels of economic activity. 

2. What is fiscal deficit ? What are its effects?  

3. What is production function? 

4. State the features of monopoly. 

5. Discuss the function of money. 

6. What is gross domestic product? 

7. State any four difficulties of Barter system. 

8. What is law of supply? Explain it with illustration.  

9. Discuss the main features of government budget. 

10. Distinguish between primary sector and secondary sector.  

 

Question Nos. 11 to 15 are long answer type and each carries 6 marks: 

11. Define a commercial bank and discuss its functions.  

12. Explain the kinds of exchange rate. How are fixed and flexible exchange rates 

different? 

13. Explain the different methods through which central bank controls credits.  

14. What is government budget? Discuss its features. 

15. Explain the different functions of money. 

******* 
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